Chart Marie A

Cast on 6 stitches. Knit 1 row. Knit flat. In every row, knit the first 3 and last 3 stitches, which form the
borders and are not shown on the chart. Beginning with Row 1 of Chart A, knit the pattern stitches
between the borders on right-side rows (i.e., knit the first 3 stitches, knit a row from the chart, knit the 3
remaining stitches.) On wrong side rows, knit 3, purl across the row and then knit the 3 remaining
border stitches.

Row 1: (rs) knit x 3, yo, knit x 3. (7 sts)

Row 3: knit x 3, kfb, knit x 3. (8 sts)

Row 5: knit x 4, yo x 2, knit x 4. (10 sts)

Row 7: knit x 3, knit 2, yo % 2, knit 2, knit x 3. (12 sts)
Row 9: knit x 3, knit 3, yo x 2, knit 3, knit x 3. (14 sts)

Row 11: knit x 3, knit 4, yo % 2, knit 4, knit x 3. (16 sts)

Row 13: knit x 3, yo, ssk, knit 3, yo x 2, knit 3, k2tog, knit x 3. (17 sts)

Row 15: knit x 3, kfb, ssk, knit 3, yo % 2, knit 3, k2tog, knit x 3. (18 sts)

Row 17: knit x 4, yo x 2, knit, ssk, knit 3, yo x 2, knit 3, k2tog, knit x 3. (20 sts)

Row 19: knit x 3, knit 2, yo % 2, knit 2, ssk, knit 3, yo % 2, knit 3, k2tog, knit x 3. (22 sts)

Row 21: knit x 3, knit 3, yo x 2, knit 3, ssk, knit 3, yo % 2, knit 3, k2tog, knit x 3. (24 sts)

Row 23: knit x 3, knit 4, yo X% 2, knit 4, ssk, knit 3, yo % 2, knit 3, k2tog, knit x 3. (26 sts)

Row 25: knit x 3, yo, (ssk, knit 3, yo x 2, knit 3, k2tog) x 2, knit x 3. (27 sts)

Row 27: knit x 3, kfb, (ssk, knit 3, yo x 2, knit 3, k2tog) X 2, knit % 3. (28 sts)

Row 29: knit x 4, yo X 2, knit, (ssk, knit 3, yo x 2, knit 3, k2tog) x 2, knit x 3. (30 sts)

Row 31: knit x 3, knit 2, yo % 2, knit 2, (ssk, knit 3, yo x 2, knit 3, k2tog) x 2, knit % 3. (32 sts)
Row 33: knit x 3, knit 3, yo x 2, knit 3, (ssk, knit 3, yo x 2, knit 3, k2tog) x 2, knit x 3. (34 sts)
Row 35: knit x 3, knit 4, yo % 2, knit 4, (ssk, knit 3, yo x 2, knit 3, k2tog) x 2, knit % 3. (36 sts)
Row 37: knit x 3, yo, (ssk, knit 3, yo x 2, knit 3, k2tog) x 3, knit x 3. (37 sts)

Row 39: knit x 3, kfb, (ssk, knit 3, yo x 2, knit 3, k2tog) X 3, knit % 3. (38 sts)

Row 41: knit x 4, yo X 2, knit, (ssk, knit 3, yo x 2, knit 3, k2tog) x 3, knit x 3. (40 sts)

Row 43: knit x 3, knit 2, yo % 2, knit 2, (ssk, knit 3, yo x 2, knit 3, k2tog) x 3, knit % 3. (42 sts)
Row 45: knit x 3, knit 3, yo x 2, knit 3, (ssk, knit 3, yo x 2, knit 3, k2tog) x 3, knit x 3. (44 sts)
Row 47: knit x 3, knit 4, yo % 2, knit 4, (ssk, knit 3, yo x 2, knit 3, k2tog) x 3, knit % 3. (46 sts)
Row 49: knit x 3, yo, (ssk, knit 3, yo x 2, knit 3, k2tog) x 4, knit x 3. (47 sts)

Row 51: knit x 3, kfb, (ssk, knit 3, yo x 2, knit 3, k2tog) X 4, knit x 3. (48 sts)

Row 53: knit x 4, yo X 2, knit, (ssk, knit 3, yo x 2, knit 3, k2tog) x 4, knit x 3. (50 sts)

Row 55: knit x 3, knit 2, yo % 2, knit 2, (ssk, knit 3, yo x 2, knit 3, k2tog) X 4, knit % 3. (52 sts)
Row 57: knit x 3, knit 3, yo x 2, knit 3, (ssk, knit 3, yo x 2, knit 3, k2tog) x 4, knit x 3. (54 sts)
Row 59: knit x 3, knit 4, yo % 2, knit 4, (ssk, knit 3, yo x 2, knit 3, k2tog) % 4, knit % 3. (56 sts)
Row 61: knit x 3, (ssk, knit 3, yo x 2, knit 3, k2tog) x 5, knit x 3.

Row 63: knit x 3, (yo, ssk, knit x 3, yo, knit x 3, k2tog) % 5, yo, knit X 3. (57 sts)

Row 65: knit x 3, (yo, knit, yo, ssk, knit x 5, k2tog) x 5, yo, knit, yo, knit x 3. (59 sts)

Row 67: knit x 3, (yo, knit x 3, yo, ssk, knit x 3, k2tog) x 5, (yo, knit x 3) x 2. (61 sts)

Row 69: knit x 3, (yo, knit % 5, yo, ssk, knit, k2tog) x 5, yo, knit x 5, yo, knit x 3. (63 sts)
Row 71: knit x 3, (yo, knit x 7, yo, cdd) x 5, yo, knit x 7, yo, knit x 3. (65 sts)

Bind off the last row. Then pick up 120 stitches evenly spaced around the outer edge and knit one
round. Proceed with Chart B. Each round is a pattern round. Repeat the pattern 60 times per round.



Chart Marie B

Round 1:  yo, knit x 2. (3 sts)
Round 2:  yo, knit, k2tog.
Round 3:  yo, knit x 3. (4 sts)

Rounds 4 - 6: yo, knit x 2, k2tog.
Round 7:  yo, knit x 4. (5 sts)
Rounds 8 - 10: yo, knit x 3, k2tog.

Bind off with a crochet hook: gather 5 stitches into a single crochet and chain 12 after every single

crochet.

Stitch glossary

Knit : knit

Cdd: slip 2 stitches together knitwise, k1, then pass slipped
K2tog : knit 2 stitches together.

Kfb : knit into front and back of same stitch.

RS: right side

Ssk : slip, slip, knit.

Yo : yarn over.
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\Q/ RS: knit into fb

WS: purl into fb

RS: k2tog
WS: p2tog

RS: ssk
WS: ssp
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RS: centered double decrease
WS: central double decrease purl




